Advanced Planning: Entry survey

@ Do you think a classical planning planning approach can be used for
solving scheduling problems?
Answer: Yes, it can suggest a sequence of events.

@ What would be the advantage of making hierarchical plans?
Answer: Would allow making abstract versus detailed plans.

@ Why isn't classical planning schema adequate for resource planning?
Answer: If resources are treated like regular objects, there is too much
unnecessary computation.

@ What is the advantage gained in abstract plans by having
surely-reachable versus potentially-reachable states?
Answer: Allows finding possible “draft” solutions to solve difficult
problems efficiently.
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